Lesson 4: Determining Restrictions on Composite Functions

Example 1: Use the functions f(x) = 2x — 1 and g(x) = x* — 2,

£x D { 7 o
a) State the domain of f(x) and of g(x). o' =i R:G@eEK [ D' €t £ f G
,b) Use graphing technology to sketch a graph of y = g(f(x)) and determine the
/ domain of this composite function.
¢) Use graphing technology to sketch a graph of y = g(g(x)) and determine the
domain of this composite function. .
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Example 2: Given the functions h(x) = — and j(x) = x* — x, determine an explicit

equation of each composite function below, then state its domain.
a) j(h() o b) h(j(x))
**OPTIONAL** Verify your answers using graphing technology.
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